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Questions 1-5

Every morning five commuters, M, N, 0, P, and Q, go to one railroad
station and board a train that stops at exactly six subsequent
stations, numbered 1-6; the train stops first at station 1 and
proceeds in numerical order to station 6.

M always gets off either at station 1 or at station 2. !

0 always gets off one station before or one station after Q's

station.

P always gets off at station 3.

Q always gets off at station 4, 5, or 6.

No one reboards the morning train after getting off.

1. On a morning when no one gets off at stations 5 and 6, which

of the following must be true?

(A) M gets off at station 2.

(B) N gets off at station 2.

(C) 0 gets off at station 4.

(D) N and P get off at the same station.
(E) 0 and P get off at the same station.

2. On a morning when Q gets off at station 4, and no more than
two of the commuters get off at any one station, which of the
following must be trué?

(A) If N gets off at station 2, M gets off at station 1.
(B) If N gets off at station 3, O gets off at station 5.



(C) If N gets off at station 4, O gets off at station 5.
(D) If O gets off at station 3, N gets off at station 2.
(E) If O gets off at station 3, N gets off at station 5.

Stations at which it is possible for N and 0 to be the only
commuters getting off the morning train include which of the
following?
I. Station 3

II. Station 4

III. Station §
(A) I only
(B) III only
(C) I and II only
(D) II and III only
() 1, 1I, and III
On a morning when no one gets off at station 1, and each of the
five commuters gets off at a different station, which of the
following CANNOT be true?
(A) N gets off one station before Q.
(B) P gets off one station before 0.
{C) M gets off at station 2.
(D) N gets off at station 5.
(E) Q gets off at station 6.
A new commuter, R, joins the group and gets off every morning
at station 5. On a morning when two commuters get off at the
same station and all other commuters get off alone, which of
the following could be the station at which the two commuters

get off?
(A) Station 1 (B) Station 2 (C) Station 3
(D) Station 4 (E) Station 6
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Questions 6-9

A supplier of animals to zoos has the following animals in stock:
three females of animal L, one female and one male of animal R, one
female and three males of animal T, and two males of animal M.

A male and female of the same species cannot be placed in the same
cage tagether,

A male M and a male T cannot be placed in the same cage together.

6. The supplier can place which of the following combinations of
the animals together in a cage?
(A) One R, two T's, and two M's
(B) Three T's and two R's
(C) Four T's and one R
(D) Five males
(E) Five females
7. The meximum number of.the animals that could possibly pe
placed in one cage together is

(A) 6
(B) 7
(c) 8
(D) 9
(E) 10



8. If the supplier must place the temale R and the female T in a
cage with three other animals, which of the following -
combinations could be used for the additional three animals?
I. Two males and one female
II. Two females and one male
III. Three males

(A) I only

(B) II only

(c) 1III only

(D) I and II only

(E) II and III only

9, If the supplier places exactly five of the animals in one cage
together, all of the following statements must be true EXCEPT:
(A) If no T is in the cage, the female R is in the cage.

(B) If four species are in the cage, the female T is in the
cage.

(C) The four T's are not all 1n the cage.

(D) If exactly three females, all of different species, are

in the cage, two M's are in the cage.
(E) If there are four males in the cage, no M is in the cage.



[ m &8 & 9 1]

I ~ BLER MW Mapping » New Specific ;WiEH °

I~ L R T M

ANV N

3f 1f 1m 1f 3m 2Zm
o N

[ # g )

6 (B
HEEF T8
7. ®
L R T M
KEHRBEREE N | I [
3f 17 1f 2m
(1m)

3 f 1f 3m
(1m)

.10.



& M

R T R T
BE | Rl » AASBEMNA | R | o
f f m m
9 @
L R M
EMTRORTHRABEC | » | » | ) WiT%EAW
3f 1m 1m
L R M L M
Cl s 1 2 | Do tueEMFEGEERC | » | Do

3 1m 1m 3f 2m

- 17 -



Questions 10-12

At Cambria College, the ratio of graduate students to
undergraduate students serving on any student governing committee
mus t be two to one.

The students who are eligible to serve on student governing
committees are graduates 0, P, Q, R, S, and T, and undergradua\tes
U, Vv, and W,

People who are married to each other cannot serve on the same
committee; T is married to W, and 0 is married to U.

Q and V can serve on the same committee only if 0 is also on that
commi ttee.

10. Which of the following combinations of students can serve on
a three-mumber committee?

(A) 0, R, U
(B) P, T, W
(C) Q,R, U
(D) Q, T,V
(E} R,V, H

- 12 -



11.

12.

A1l of the following combinations of students can serve on a
six-member committee EXCEPT

(A) 0, P, Q, R, V, W

(8) 0, P, R, S, V, M

(C) P, R, S, T, U,V

(D) P,Q, R, S, U,V

(E) P, Q, R, S, U, W

0, 5, and U leave the college, and unmarried graduate Y and
unmarried undergraduate Z become eligible to serye on student
governing committees. If T must serve, the only six-member
commi ttee that can be formed is

(A) P,Q,R, T,V, 12

(B) P,Q, T, Y, W,z
(C) P,R, T, Y, V, Z
(D) P, R, T,Y, W, Z
(E) Q, R, T, Y, V,Z

.13.
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Questions 13-17

A softball team has five starting pitchers, J, K, L, M, and N. It
also has four relief pitchers, 0, P, Q, and R. J, K, L, 0, and P
are left-handers and M, N, Q, and R are right-handers. The game
always consists of exactly nine innings, and it is not possible to
change pitchers during an inning. The work of pitchers is Qoverned
by the following rules: '

No relief pitcher can and R are right-handers. more than four
innings, except that a pitchers duringan pitch only the
ninth inning.

Pitchers can pitchcan start the game only; they cannot pitch

A left-handed pitcher sequences of e followed by a right-
handed pitcher and vice versa.

Starting pitchers can start the game only; they cannot pitch
in relief.

Relief pitchers cannot start the game.

13. Which of the following sequences of pitchers is NOT possible
-in. a single game?

~(A) dJROP
{B) KQOR
(C) LQOR
(D) MmoQP
(E) MPRO
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